[bookmark: _GoBack]1.Define ‘rate of a reaction’. 

2. Define ‘order of a reaction’. 

3.Define ‘activation energy’ of a reaction. 

4.Express the rate of the following reaction in terms of the formation of ammonia :
N2(g) + 3H2(g) → 2NH3(g) 

5.If the rate constant of a reaction is k = 3 × 10-4 s-1, then identify the order of the reaction. 

6.Write the unit of rate constant for a zero order reaction.

7. Differentiate between order and molecularity of the reactions

8.Define rate constant (K).

9.For a reaction R → P, half-life (t1/2) is observed to be independent of the initial concentration of reactants. What is the order of reaction? 



